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Solve the following differential equations(+ 9 4z - 100 %)

1. (2coshy + 3x)dx + (xsinhy)dy =0 (10%)

2. y'+6xy=0,y(0)=15 (10%)

3. y’"—2B%’+B% =0, where B is an arbitrary constant (10%)
4. y'=1/(6¢ —2x) (10%)

5. Find a homogeneous Cauchy-Euler differential equation whose general solution
is given as:
y = Cox* + Cox? (10%)

sy &Y 2 4,3-0 gu7 4z o 0
6. & T Iyt xTyT=0 i (10%)
7. %% y" +3y +3=3e3 guifz o (10%)
8. % x%y" — 3xy' +4y =x? sudfz - (20%)

9. 3% f(t) ¢ Laplace # 3 %
s34+s7+41
s2(s? + 4)

* f(t) - (10%)



